Parts List .«..x:

Epap Uk

Model: AC265S =Y ZRa—F 524617
AC265SL



HaTRODITERIZDINT

1. BRSO TEX DB

wiEs (BX) - BARES - BBHREW - MEZTHEZEL,

INTEATIAS (E R R DR TR E SRS,

MamlEwend THRILMIESGSR ] Z23HERATIZEL,
AERRIFEBLEZLDEHYFET .
ABRREIBBEDAFELEERTLIENAHYET,

Fig. DFRRIZTDNT

ASARMR—=U|Z Fig. XXSRBERRLTHYET . COXXKIFAFTAM—D
ELORBLEZSERLFET .

o 0 & 0N

B R
7, /\o_:)

AC265S

Lz oo 1~2
AC265SL

2 N v S 3~4
AC265S, AC265SL

3. IUVY (DT —R, DUDE . AAI) e 5~8
4. TDY (JOAAILRB=E) s 9~ 10
5. IV (FvTLA. IT7Y)—F. BEEVY) e 11~ 12

(IR 1 TR oSSR 13 ~ 14






1. AC265S
x &




A:AC265S, B:AC265SL

BHES | HRES w8 & . s B =
1-1 364733 | AC265S 1
1-2 226792 | TUNYY 1
1-3 227919 | K IVUN AhUIbA 1
1-4 236345 | AVT7T 1
1-5 226918 | A{A'JLERYS 1 6 ~ 8794
1-6 226988 | TAI4RY (+) 1 M5X18
1-7 012487 | 3% "% 1 M5
1-8 126993 | 6 h9+ Yk 1 M5
1-9 228446 | NN IWMN)YTBTY 34T 1 10 79 4
1-10 | 092561 | 6 AY& Wk (+)SW 6 M5X25
1-11 228089 | ¥ ¥h—-R9347T 1 12 ~ 18 744
1-12 | 234247 |6 HH& Wb 1 M8X8
1-13 | 092550 |6 f%#k b (+)SW 1 M5X25-7T
1-14 | e | NE/H A A 412851 1
1-15 | === | \E/K'A B 620674 1
1-16 | === | 6 H/K ILF WSW 620673 1 M8X22 t4™)
1-17 | 222128 | 34¥9+K9onY 1
1-18 | 222129 |4YE"v2y” 1 5X20
1-19 | 089737 |6 hYk ILb 1 M5X12
1-20 | 220549 | F1947-) 1
1-21 241141 | 2=L7°L—b 1 AC265S
1-22 | 231654 | NJT—Y) 1 ECO
1-23 | 237718 | nUNIL A ThA 1 E4)
1-24 | 236358 | AUMNIL B ThA 1 3
1-25 | 236356 | MJA'LN—H34T (19) 1 860L
1-26 236111 | 377 1 1) - 7434
1-27 | 235749 | AOYMLI{Y 1 810L 1/0 78
1-28 | 234549 | ANk —M1-7 1 660L
1-29 | 220533 | h4hhF NN 34T 1
1-30 | 222821 | ¥ 3A9AVhN—H34T 1 31 794
1-31 092561 | 6 hYF L+ (+)SW 2 M5X25
1-32 | 224693 | ¥Y7°Y— 10 1




2. AC265SL
x &




A:AC265S, B:AC265SL

BHES | HRES w8 & s ' B =
2-1 364734 | AC265SL 1
2-2 226792 | TUNIYVY 1
2-3 227919 | K IVUNAhUIbA 1
2-4 211736 | ®v494=%") B 1
2-5 211737 | WUV 2
2-6 235783 | M)I'LN=H347T (24) 1
2-7 236111 | 387 1 (39 -TF43-9
2-8 236322 | ARYRLIAY 1 | 365L1/0 76.5
2-9 213548 | aLh —MF1-7 1 |3E 10 200L
2-10 | 226928 | R{A"ILEMZ 1 [11 ~13744
2-11 226988 | TAI4Y (+) 1 | M5X18
-12 | 012487 | 3% h'% 1 [ M5
-13 | 126993 |6 K49+t 1 | M5
2-14 | 228089 | XY —R434T 1 |15~ 21794
2-15 | 234247 |6 h9# b 1 | M8X8
2-16 | 092550 |6 H9K Lk (H)SW 1 | M5X25-7T
2-17 | 212986 | AE/HRRA 1
2-18 | 219195 | nE/K'A B 1
2-19 | 215610 | 6 h%K L WSW 1 | M8X22 t4™)
2-20 | 222128 | v¥YFKRIVNY 1
2-21 222129 | 49t v3Y 1 |5X20
2-22 | 089737 |6 h9k b 1 | M5X12
2-23 | 220549 |F19{v-Y 1
2-24 | 241145 | 2—=L7°L—b 1 | AC265SL
2-25 | 231654 | \Jv—=4H 1 |ECO
2-26 | 222059 | K IVUL-7 NINVIIET 1 127,28 7491
2-27 | 126993 |6 h9+ Yt 4 | M5
2-28 | 222142 | A2 ()W 4 | M5X28
2-29 | 220533 | hahhrnN UM 98T 1
2-30 | 222821 | ¥ A9rvAN-H34T 1 317594
2-31 092561 | 6 Ky Lk (+)SW 2 | M5X25
2-32 | 224693 | FY7Y—- 10 1




3. AC265S,AC2655L T >V

DS —R, DYUE . aAdI)L




A:AC265S, B:AC265SL

BHES | HRES w8 & A@ﬁ ' B =
3-1 875175 | IVY'Y 1 1 | EE261/23
3-2 273153 | YU 1 1
3-3 282330 | I ALYE 1 1
3-4 261250 | 6 B9T7+HYFHK Wb WSW 4 4 | M5X20
3-5 282579 | 4Uv1lL—4 1 1
3-6 267049 | B ANYb 1 1
3-7 269826 | A IRV (H)WSW 2 2 | M5X25WSW
3-8 276844 | 3¥737+tV7) 1 1
3-9 266402 | A%'a 2 2 | M5X55
3-10 | 273147 | H'A4wb 1 1
3-11 273618 | 74 —hn'— 1 1
—-12 | 269827 | FA 2% (+)WSW 1 1 | M5X16
-13 | 276319 | M7 hn'— 1 1
3-14 | 563151 | 249Y1 1 1 | M6X15
3-15 | 261878 | Yt 1 1
3-16 | 280144 |AYEVRY (+) 1 1 | 4X16
3-17 | 273673 | 4530924 1 1
3-18 | 280488 | AT7YYY 2 2 | PPL 6001
3-19 | 261492 | A4LY—I 1 1 |ISCD12287
3-20 | 261386 |A4ILY—I 1 1 |ISCD12227
3-21 055185 | C h™4hA7) 1 1 | H28
3-22 | 261612 |6 h97FYFHK I WSW 3 3 | M5X30
3-23 | 273155 | E'AbY 1 1
3-24 | 261496 | E'ArNUY 2 2
3-25 | 261497 | E'AMUEY 1 1
3-26 | 261037 | =—FLATYLY 1 1
3-27 | 261576 | #=49v7° 2 2
3-28 | 282323 | 97V9 %70V TY—H 1 1
3-29 | 269168 | 4539F7ty7 1 1 130,31 794
3-30 | 269169 |4539Fva 2 2
3-31 269173 | A7V 1 1
3-32 | 269647 | H39FK b 2 2
3-33 | 269175 | 79v¥. 2 2 | 6.1X15X1.6
3-34 | 261777 | 91-7"799% 2 2
3-35 | 272095 | 77UAN-TtU7Y C 1 1 |36 ~ 38794
3-36 | 282233 | 77UhN— 1 1
3-37 | 289727 | 43YFNIL3Y77)—b 1 1
3-38 | 014210 | C #'4bA7 1 1 |S10
3-39 | 269831 | FA2%Y (+)WSW 4 4 | M5X20WSW
3-40 | 282215 | Hyy7’ 1 1
3-41 281169 | 2411 1 1
3-42 | 282692 | ¥y &b FEYTY 1 1 |43 ~ 49 794
3-43 | 261356 |O-4 1 1
3-44 | 282693 | 19 =9YAVAMNTEYTY 1 1 |45 ~ 49 791
3-45 | 267401 |34l 1 1




3. AC265S,AC2655L T >V

DS —R, DYUE . aAdI)L




A:AC265S, B:AC265SL

BHES | HRES w8 & A@ﬁ ' B =
3-46 | 282694 |1-FNT7tU7Y 1 1 |47 ~ 49 79 L
3-47 | 261074 | 7°59°%%¥v7° 1 1
3-48 | 261075 | 799 1 1
3-49 | 282695 |1-F 1 1
3-50 | 261076 | nuF'WE— 1 1
3-51 261417 | Y34 h 295+ Yb 1 1 | M8
3-52 | 280381 | AA—# 2 2
3-53 | 261256 |6 HY7FYFH I WSW 2 2 | M4X25
3-54 | 286739 | AN=4973Y 1 1 | CJ6Y
3-55 | 267492 |-} 1 1
3-56 | 282880 |-} 1 1
3-57 | 280670 | 4'OAvhk 1 1
3-58 | 264588 | 457 1 1
3-59 | 269705 | 3N 1 1 | %7y hxr vty
3-60 | 274191 |3~ 1 1 [ 394tvFa94




IOV

4. AC265S, AC265SL
JaA JLRAR—A




A:AC265S, B:AC265SL

HaEs

B M &

Sk

i’ &

[ I [
BCOOO\ICD AR WN =

L e e i e i

—_— ok ot L
AWON—=

282404
282405
283411
283412
280930

280931
267213
280932
280933
267219

280934
280489
269833
279167

YA RE=47 107"
RI=47+427")

Y=l

L7+ ‘
BYN=-R7)UY

ANATNRTY Y
TYMRYYL
-77t,7")
A8—40-7
A4=4)7

7=TEs7Y

FA Y (H)WSW
TAIRY (HWSW
NA{IA

— o — — —) >

— )t — —)

_—— N —

[ G G I G —y (>8]

[ G G I G —y

—_—— N —

2~ 11794
3~ 10794

9,10 794

M4X20
M4X16WSW
AC2635S




5. AC265S,AC265SL TPV

FyILE, ITT70)—F. BEEVY

-11 -



A:AC265S, B:AC265SL

BHES | HRES w8 & A@ﬁ ' B =
5-1 273708 | Y7 L47tU7Y) 1 1 [2~15794
5-2 281597 | KUK T4 1 1
5-3 262991 | N—=VK T4 1 1
5-4 262992 | kU7 hin— 1 1
5-5 261874 | 7'74% 1 1
5-6 283905 | 4°4¥77L 1 1
5-7 262993 | B ANYE 1 1
5-8 262994 | 5°4¥77L 1 1
5-9 282576 | H ALYk 1 1
5-10 | 285030 | "IVt 1 1
5-11 261871 | O Yuy 1 1
5-12 | 261876 |Yv7 1 1
5-13 | 261658 | A4A')L 1 1
5-14 | 264682 | 24911 2 2
5-15 | 262996 | 24Y1 4 4
5-16 | 261864 | h"Ahwb 1 1
5-17 | 289048 | H—A7+tV7) 1 1 |18 ~ 24 744
5-18 | 269050 | 7—&FK 74 1 1
5-19 | 289019 | A7 1 1
5-20 | 284803 |Ln'— 1 1
5-21 284816 | 1Yo 1 1 |6.4X11X0.15
5-22 | 269032 | 249Y1 1 1
5-23 | 126993 |6 YTVt 1 1 | M5
5-24 | 269051 | &Al-7' 2 2
5-25 | 269030 | ILAVH 1 1
5-26 | 281777 | +A" 2%y (+)WSW 2 2 | M5X55WSW-7T
5-27 | 269027 | HY—Fhn'— 1 1
5-28 | 269031 | 24Y1 1 1 | M5X12
5-29 | 273735 |4Vh9T7tEY7) 1 1 130~ 40754
5-30 | 273467 | 71-IN4YY 1 1
5-31 275306 | 4V9%YV7°T7EU7Y) 1 1 32794
5-32 | 274875 | NYXxY 1 1
5-33 | 261696 | 7°)—%#"434T 1 1
5-34 | 265752 | 2J)AYNATTEYTY) 1 1 |35~ 40794
5-35 | 264031 | NA7H34F 1 1 |36 ~ 38794
5-36 | 261115 | #'OAYp 1 1
5-37 | 261690 | #YY)A9N47 1 1 | 160L
5-38 | 263038 | A—nN70—NA{7 1 1
5-39 | 264653 | 7{ILATtY7Y 1 1
5-40 | 261117 | Hy97° 1 1
5-41 269828 | A IRV (W 2 2 | M5X16W
5-42 | 281208 | tAI4Y (HW 1 1 | M5X16W *Y4
5-43 | 281596 | A 1 1 |F3-9

-12 -




6. AC265S, AC265SL
/&

-13-



A:AC265S, B:AC265SL

HaEs

B M &

Sk

>

i’ &

221460
220534
210418
219431
022865

241133

HI AN %
hnhinv—
IVE R YIRANT
6 hYR IANT
YA9YFANT

M7IRLEY AT

— et — — —)

— ek )t )t ) (>8]

ZAUNN 3
8X10

-14 -




22 LU EThH
B EFRHERED
Ay FE—- bt s2—: EE 0120-898-114
ZFIFIEHRY: AN9:00~PN5:00(+. B.#1H %% <)

Printed in japan 2018-02.J

EHENEETY





